OVERLOAD PROTECTOR
BRERERE

| Function

Overload protector is equipped in press machine to
check the hydraulic pressure of cylinder inside the
slider.

If happen overload, the hydraulic pressure of cylinder
will be released immediately within 3/1000 seconds.
When happen overload, in order to protect the press
and die, the press will stop working immediately
after receiving the signal from limit switch.

After happen overload, the air will drive hydraulic
pump to supplement normal working pressure
immediately and the press can work normally.

It has pressure control valve inside of overload
protector, which can adjust hydraulic pressure
automatically and eliminate the impact of rising
pressure (which cause by oil temperature rise) in

pressing process.

ab
Be

BEAURERESLZRERIOPRLE - BRUSRE

PHEBE SR B R HERE] - \.)
EBEERTEER  (EHEBOREETIZ=M
POEURHBIEAL -

BEERER - MERFELERER - BAPK
ERFEFILLEE - LUREBDRNES -

BEEELER  HERRSEERE - REFBEH
BTIRVERTIEET] » {ENRAETIBNEFERIE -
BEERERENNEGEEIZHMN - eE8HAH
HEEET] » TERRRAETBERED » FBE CF
MELBN EAMZNEE -



Model Selection / B2 : V[1][2](3][4] — [5][6][7][8] —[9]

Control type

A : Air pressure control

E BEIFGE S : Spring adjust
06 : 200 tons & down
2 Suitable for capacity of press | 08 : 200 tons & down
& AR T AR WE 2R 10 : 200 tons & down
12 : 200~600 tons
3 Ratio of pump pressure Empty (Standard type) : 22 ratio
REBEL M : 32 ratio H : 42 ratio
a) Design No. | Empty : First edition
HETREIN A~Z : Revise edition
5 :x 50 rati
5 Ratio of overload pressure 7. i 70 :Zt:g
= Ve Epalind : g
9 : x 90 ratio
6 Position of limit switch (type) 2 : NO type
' MENRR (BTN 6 : NC type
Volume of oil tank (Liter) 0 : None 3:4.0/
7 b Priand el —1}
HEEE 1% 2 5:8.0¢
B Control unit Empty : None
=HIETT C : Include
9] Pressure setting (kgf/cm?) VA Model : None

BAOREE

VS Model : ex.[3][0][0] is 300 kgf/cm®

Cylinder

SANDSUN

Air supp

Air regulator

Hydraulic piping

Air solenoid(NC)

Air supp

o o Air regulator




AIR PRESSURE CONTROL SERIES model VAOS
HRIE G

Tank Port
Air Drain Bolt Limit Switch ~ Cylinder Port O-Ring P24
4-M10x85 \ 2-1/27 1o a1 g/ AirSupply Port
o B 2-1/4°7
b g = |
- 5 AR K o - ’/o
O )../ -/ 0 4o
0 3 B R ——
82 4 P Pump Suction Port /22.5 R7.3 Cylinder Port
12t Z = O-Ring P16 O-Ring P16
277
S s Installation Dimensions
Include Oil Tank / 587§ :
- ZREEGRY
Cylinder Port 4-M10x20 Depth
o12-014 “ 3
"
16-d é @#/
w
& 4 - o
ol o
i i p | d
125 l J %T Pump Suction Port 20.5 | 27.3 Tank Port
‘ B - 08-011 018-023
3
Model A B C D E d Volume
o| a
4 9 VA08-[1[ 11 206 230 50 100 226 a1 127
- Y VA08-[1[13 285 310 80 150 276 a13 4.0/
Air Supply Port N
2-1/47 VA08-[ [ 15 355 380 130 200 326 213 8.0/
Model, /Bt Releasing flow rate Area of orifice Pressure setting Pressure setting range Air supply
= ERUAE (cm*/sec) HIILERE (cm®) BEHEES [/ EEE (kgflem?) {EFRZERES] (kgflem?)
Air pressure
VA08-560 15500 0.7 X 50 ratio 150 ~ 250
Air pressure
VAO08-760 13000 0.5 « 70 ratio 210 ~ 350
Air pressure
VA08-960 11500 0.4 <90 ratio 270 ~ 450
Air pressure
VAO08M-760 13000 0b 70 Fatic 210 ~ 350 3~5
Air pressure
VA08M-960 11500 0.4 .90 rati 270 ~ 450
Air pressure
VAO08H-760 13000 0.5 X 70 ratio 280 ~ 350
Air pressure
VAO08H-960 11500 0.4 « 90 ratio 270 ~ 450

Suitable for press tons : 200 tons & down,/SERIHER : 200 i (&) AT
Air consumption : 220(NI/min) / ZB5;EFEE

Max. noise : 77(dB)/Z&

Hydraulic oil : 1ISO-VG-32 or equivalent,/{EFEEH



modet VA12

SANDSUN

i
\o Cx g
e°o A5

o [E= ‘

L130 35
R

200

2|

Air Supply Port

2-1/4°7

24

Include Control Unit / SITHIEE7T

Air Drain Bolt Limit Switch ~ Cylinder Port Pump Suction Port
2:3/47 0-Ring P20 ankieor
4-M12x110 9 20, 58 0-Ring G30
= 3 . - -
y o & « 5 ©
O 8~ 5 S A &
+
g U
18.5 58 | 2 ;
148 109 ‘ 93 Ce) =|. Air Supply Port
i 2-1/47
350
Installation Dimensions
rm i o P
ZREERY
2 58  4-M12x18 Depth
_ [ |
. £
sos LS| b
T = 13 R v
@ 8| 8
~| &
do o [® g
125 355 ‘ gT Pump Suction Port/ 58 Tank Port
! 380 d @10-014 @20-025
R . - .
Model etlea(lsng/ ﬂov)v Area of orifice | Pressure setting Pressuzi S;mr:? @A% :Dliﬁt;);j
d rate (cm®/sec . L range (kgf/cm' ZERE
B i 73 &S (cm® BNRELDN .
= nim | P WERR | moemm | (kghom)
Air pressure
VA12-560 39000 1:7 % 50 ratio 150 ~ 250
Air pressure
VA12-760 31000 1.2 X 70 ratio 210 ~ 350
Air pressure
VA12-960 27000 0.93 X 90 ratio 270 ~ 450 3~5
Air pressure
VA12H-760 31000 1.2 X 70 ratio 210 ~ 350
Air pressure
VA12H-960 27000 0.93 ¥ 90 ratio 270 ~ 450
e Suitable for press tons : 200 ~ 600 tons,/3EFHK : 200 ~ 600 [
@ Air consumption : 460(Nl/min),/ZEREFEE
e Max. noise : 89(dB)/&E
Air Gauge
Air Supply Port
1-1/477
b , 0| &
eﬂ () o o| o
5 o
d =
[ [y
16-d b
B
Model A B C D E F d Volume
VA08-[][13C 285 370 80 150 276 195 913 4.0/
VA12-[][]5C 355 440 130 200 348 245 a13 8.0/

@ Control unit : include pressure regulation valve,solenoid valve,pressure gauge

=hlsET - STHER - SWRARETIE




SPRING CONTROL SERIES Model
I E G b

Limit Switch

Air Supply Port  Air Drain Bolt Cylinder Port Tank Port
1-1/4°7 P O-Ring P24/
4-M10x85 Pump Suction Port 19 41 3 Adjustable Bolt
= 8 O-Ring P16 e i
o ] &
® S %I w@\«@g ] 3
o1
uu 225 p7.3 .
121 82 67(MAX) | 2 Cylinder Port
O-Ring P16
270
. S Installation Dimensions
Include Oil Tank / =;HF8 :
- REESRY
Cylinder Port 4-M10x20 Depth
x o12-@14  \ 1 3
!
€ &=
w
s —E-—£+ 8
i o | ¢
125 | & Pump Suction Port/ | 20.5 I 27.3 Tank Port
' 28-011 ‘ 218-023
Model A B C D E d Volume
Vvso08-[ ][ 1 206 230 50 100 226 a1 124
Y Vvso08-[113 285 310 80 150 276 a13 4.0/
vso08-[][ 5 355 380 130 200 326 a13 8.0/
Model /B35 Releasing flow rate Area of orifice Pressure setting Pressure setting range Air supply
TS (cm*/sec) FIARSLERE (cm®) ENFESN B EsE (kgf/cm?) {ERZRES (kgflcm?)
VS08-560 15500 0.7 150 ~ 250
VS08-760 13000 0.5 210 ~ 350
VS08-960 11500 0.4 270 ~ 450
VS08M-760 13000 0.5 - 210~350
VS08M-960 11500 0.4 . 270 ~ 450
Spring adjust 3~5
VS08H-760 13000 0.5 250 ~ 350
VS08H-960 11500 0.4 270 ~ 450
VS10A-760 18000 0.7 210 ~ 350
VS10M-760 18000 0.7 210 ~ 350
VS10H-760 18000 0.7 250 ~ 350

Suitable for press tons : 200 tons & down,/SBEHER : 200 [ () T
Air consumption : 220(NI/min) / Z25REFEE

Max. noise : 77(dB)/ &£

Hydraulic oil : 1ISO-VG-32 or equivalent,” {FFE R EEH



AIR PRESSURE
SPRING CONTROL SERIES / #3E& VAO6M/VS06M

4-M10x85 Air Drain Bolt  Limit Switch 21 225 275
Cylinder Port =
2-1/2" . ] 2 8 [ 1 H air Supply Port
ol 8 N Pl 4 / 2-1/4°7
VAQ6M-760 T £l = o @g@@ez ol o
8]
88.5 90 5w 27J_41=[ 3
232.5
Tank Port
E% Q O-Ring P24
53 & 9 Adjustable Bolt
VS06M-760 o @
‘ 88.5 90  |7(Max) o Pump Suction Port Cylinder Port
[ 245.5 . O-Ring P16 O-Ring P16
. s Installation Dimensions
Include Oil Tank / ;178 EETREN
Cylinder Port 4-M10x20 Depth
012-014
VA0BM-763
w Lo
Pump Suction Port/ |20.5| 27.3 Tank Port
28-011 018-023
VS06M-763
8
Model A B C D E d Volume
W o o VAO06M-[[1 5
2. 1 2
5 %% VS06M-C1 1 06 230 50 100 26 o1 124
& H B
-0
S VAOGM-_ 93 285 310 80 150 276 @13 407
S VS06M-[ 113
Model,/H5% Releasing flow rate Area of orifice Pressure setting Pressure setting range Air supply
2 EHRCTE (cm?/sec) Hl3LER (cm®) ENRRELST B3R EEE (kgflcm?) {EAZERES (kgflcm?)
VA06M-760 13000 0.5 210 ~ 350
Air pressure
VA06M-960 11500 0.4 270 ~ 450
3~5
VS06M-760 13000 0.5 210 ~ 350
Spring adjust
VS06M-960 11500 0.4 270 ~ 450

Suitable for press tons : 200 tons & down,SBFHER : 200 [ (&) 2T
Air consumption : 220(NI/min) / ZE5HFEE

Max. noise : 77(dB),/ & &

Hydraulic oil : 1ISO-VG-32 or equivalent,/ {3 REEH



SANDSUN

. Selection Basis / 3ZRKE

Specification & Parameter of Press JIKiRIESE N
:press rated capacity JHREES] (tons)

:stroke length BRI (mm)

:stroke per minute 2 IE{TIZEI(SPM)

:rated tonnage point BEJJ854E 2t (mm)

:cylinder diameter SHIIEE(cm)

:cylinder number SHELESH(pc) @
:oylinder stroke SHTLZ/EZETHE(cm)

m:ratio of overload hydraulic pressure BETEEE/IEE

> 3 oIxT Z2 nm

OVERLOAD

Calculation Formulas for Model Selection BITVERETERIE -

A= (7 D*4)x n (cm? cylinder area SHELES

P=Fx1.1x1000/A (kgf/cm?) hydraulic pressure setting of overload (VS model) B& 758 EHYHEEEE /]

Pa=P/m (kgf/cm?) air pressure setting of overload (VA model) HBEEERENZTERES]

V=NvSH-H¥/87.5 (cm/sec) drop speed of slide /B NEHEE

Q=AxV (cm®sec) releasing flow rate HBETZEERIVEIIRE

L= 4xAxh (cm?) volume of oil tank SHFEEE

» Releasing flow rate (Q) of overload protector, which you choose has to be more than of cylinder volume.

If releasing flow rate isn't enough, please use two sets of overload protector.

Example &5 : (model:VA(VS)08—7[1[))

F=160 tons A=(726%4)x 1=531 (cm?)

S$=200 mm P=160x1.1x1000/531=332 (kgf/cm?) ——————- VS model

N=40 SPM Pa=332/70=4.75 (kgf/cm?) ——————————————— VA model

H=6 mm V=40/200x6-6%87.5=15.6 (cm/sec)

D=26cm Q=531x15.6=8284 (cm®sec)

n=1 pc L=4x531x1=2120 (cm?®)

h=1cm

Note

1. Hydraulic pressure (P) and air pressure (Pa) of overload protector, should be choose as higher as possible.

(Example : P=335 kgf/cm’ or Pa=4.8 kgf/cmz)
2. Hydraulic piping size *
VA (vS)08—[[C]1-[000] VA (vS)12—- [0 -0000]

Size (1.D./O.D.) Work pressure (maxi.) Size (1.D./0.D.) Work pressure (maxi.)
12/18 mm 400 kgf/cm? 14/22 mm 400 kgf/cm?
13/18 mm 320 kgf/cm? 16/22 mm 300 kgf/cm?
14/18 mm 250 kgf/cm? 18/22 mm 200 kgf/cm?

3. Inside diameter of air piping must be more than 6 mm.



Model \VS12

SANDSUN |

Limit Switch
Air Supply Port Air Drain Bolt = = Pump Suction Port
11470 e P 0-Ring P20 Tank Port
4-M12x110 22 205 s /O-Ring Gao

(8]

‘= 120CB m}E

y ol 8 & @ O
S| N ~ il
(| L h
| B RS
U
18.5| | 58 | 2 .
148 109 | 108(Max)| ¥ 4 Adjustable Bolt
365

Installation Dimensions
ZRESRY
2 58 4-M12x18 Depth
|
miﬁﬁib 16-013 A é
® N
ol ©
@ 2 8 b
)
¢] 7
125 355 gl 3 Pump Suction Port/ 58 Tank Port
380 210-014 @20-025
. - Ai
Model F{etleasmg - Area of orifice | Pressure setting I';‘rt:ssuzi S:r:;;"] {Eﬁg;%g;j
— B rate (Om1Se0) | gy s (o) | BREESR | nge KOUOT .
o e iﬂ gl g BRE B EHE (kgf/lem®)
0°%0 w55
O |4 VS12-560 39000 17 150 ~ 250
= = 3 VS12-760 31000 1.2 210 ~ 350
o
VS12-960 27000 0.93 Spring adjust 270 ~ 450 3~5

VS12H-760 31000 1.2 250 ~ 350
VS12H-960 27000 0.93 270 ~ 450

e Suitable for press tons : 200 ~ 600 tons,/EFEHEK : 200 ~ 600 [
® Air consumption : 460(NI/min),/ ZEREFEE
® Max. noise : 89(dB) /&£

Include control unit / SiTHIEETT

Air Gauge

Air Supply Port
(1-1/477)

0/
~h
B
Model A B C D E F d Volume
vso8-[][13C 285 370 80 150 276 195 @13 40/
vs12-[][]5C 355 440 130 200 348 245 13 8.0/

e Control unit : include pressure regulation valve,solenoid valve,pressure gauge

SHIEETT - STRER - BHEMRREIS




